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AJA s )l
E: the program is efficient
(Q: the program executes quickly
B: the program has a bug
If the program is efficient, it executes
quickly, Either the program is efficient, or it
has a bug. However, the program does not

execute quickly.
sAghall Aaiadl ALY g 1 pladiuly

o(Aa 4 14)2000 gt

M i o il ghie M 30 pall Jgs -2 Ik

the program has a bug

) Colghall Ll ol JS21) Jigodlly pod
—|('1Q v -1p) v ("r("’l@ v p) ' "'\Q)
=(@Ap)v{@A-p)V-0Q)
=(QAp)Vv ((Q v=Q)A(=p vﬂa})

irue

—pv=@

=Qap)v(~A Q)) .

=(Qv-@AQ)A(pv-(@AQ)
Z(QV-pV-Q)A(pV=pV -10)({_/(:“-
= (true V —p) A (true V Q) (" “

o

=tirue Atrue = true

tautology A 4l kel o -1
Q=>-P)=»>(Q=P)= -Q)

ke anid g gl pois




(. ¢ —>0Q 2
da @ S €\l B g EVB
. ey LY i /
9 G —7 ﬂt CIRIRE
@ eV & /E
Preve 3 \\&
converT To Ca € 14 b
“ "‘\_/ (,(
L g Ve AR
v B ‘heo Y &
5 "'\"‘é v B /4 ﬁ ’49-%’}{(2525!: .
qﬁ, & / gu/_fgimé’p -
gl J,‘Jl%‘”)d”@
5.8

(42 7)ol el

gssxdjs”‘sﬁ,auJuu1aupmghlama»anj_m@wml,mgsﬁuiwu@hj (1
gr,h...ll sl el J.)ifa.\a..'u.ng

Low level vision

Camera

Medium level vision

-
/-lﬂ n
7

(I/(." e

[ ‘;r b, SN ’
- Sl A

High level vision
high level inferences -

Fig. 1.10: Basic steps in scene interpretation.
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8.3 “Every person plays some game,”
A. Everythinglx.y) is a person{x) and is a game(y} and x plays y.
B. Everything(x) is a person{x) and there is some gamedy) and x piays ¥.

C. it somathing{x) ts 2 person(x) then everythingiy) is a gamefy) and x piays ¥-

D. Correct.

&b “All games are fun,”

A. Everything(x) is a gamelx) and is fun{x).

B. Correct.

C. There is something(x) thal is a game(x) and is fun(x).

D. Vatuousty true If there is anyihing{x) that is not a game(x}.

B.c “For every game, there is a person that plays that game.”
A. Everything(x} ls'a game and these is some person(y) and y plays x.
(B:. \éumacmtywe if there is anything(y) that is not 2 pemsonty).

D. Everything(x y) is 2 game(x) and is 3 person{y} and y plays x.

8.d “Every person plays every game.”

A. Gomect.

B. If anything{x} is @ person(x) then everylhingly) is 2 game{y) and x plays y.
C. Everything(x.y) is a persondx) and is a game(y) and x plays .

D. Vacuously true if anyihing(y} is nol a game.

B.e_“There is some person in lrvine who is smarl”

A. Everything(x) is a parson and is in irvine(x) and is smari(x).

B. Comect.

C. it something(x) is a person(x) and is in irvine(x} then thatl thing is smanix}.
0. Vacuously true if anything(x) is not a person(x).

8f “Every person i Irvipe is smart.”

B Everyihing(x) is a person(x} and is in Irvine(x) and is smart(x).

8. There is something(x) that Is a person{x) and Is in Irvine(x) and s Smari(x}.
C. Comect.

D. Vacuously true if anything(x) is hot a person{x).

81 “Some person plays every game.”

A Vacuously true if there is anythingix} that is nota person{x)).

B. There is some person{x) anc everything(x}is a pame{y) and x plays v
C. Everything{x,y) is a person(x} and is 2 gamely) and X plays .

0. Comecl

£ h “Some person plays some game.”

A. Correct. .

B. Vacuously true f there is anythingtx,y) thatis not a persan{xj or s not a
gamely).

C. Vatuously rue if there is anything(x) that is nol a person(x}

0. Everything(x,y) Is a person and is a gamefy) and x piays .
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